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Section : Part-A-General Intelligence and Reasoning

Q1 By interchanging which two signs and two numbers (not digits) the equation will be correct?

8+6x4-3+1=2

Ans 1. +and—, 6 and 3
X2 xand+, 8and 3
X 3 xand+, 6 and 3
X4 +and~. 1and8

Q2 Select the figure that will replace the question mark (?) in the following figure series.

Ans



Dell
Stamp


Q3 A paper is folded and cut as shown below. How will it appear when unfolded?
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Q.4

In the following question, select the related letter pair from the given alternatives.

RPD : WUI :: ?
Ans X 1. BAC: OTT
X 2 LDK:CFK
« 3 XYM : CDR
X< 4 XOL:UPL




Q.5

Ans

Select the figure that will replace the question mark (?) in the following figure series.

@ ?

>

ollellelle

Q.6

Ans

After arranging the given words according to dictionary order, which word will come at “Third’ position?
1. Small
2. Smart
3. Smack
4. Smash

5. Smatter

X 1. Smash
« 2. Smart
2 3. Small
X 4. Smack

Q.7

Ans

In a certain code language, ‘MATURE’ is coded as ‘82°, “HIGHER is coded as ‘59°. What is the code for *ASIAN’ in
that code language?

X142
X2 44
X3 46
V4 48




Q.8  Five friends Pooja, Bhawna, Charu, Geeta and Hema are sitting around a circular table facing towards the centre. Charu
is not the neighbour of Bhawna. Bhawna is second to the left of Hema. Geeta is the neighbour of Bhawna and Hema.
Who is sitting to the immediate right of Bhawna?

Ans 1. Geeta
X 2. Pooja
X 3. Charu
X 4 Hema

Q9 Tn the following question, select the related letters from the given alternatives.

KBZ :HYW = VIF : ?
Ans X 1. NOP

X 2. HVA

« 3. SFC

X 4 SHM

Q10  From the given option figures, select the one in which the question figure is hidden/embedded. (rotation is not allowed)

™~

b=
%

Q.11 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

MQ, SO, QU, WS, ?
Ans X 1. UX

X2 XT

« 3. UY

X 4 MH




Q.12

Ans

In the following question below are given some statements followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion(s) logically follows the given statements.

Statements:

I. Some namkeen are pizza.
II. No pizza is biscuit.
Conclusions:

I. No biscuit is namkeen.
II. No biscuit is pizza.

III. Some pizza are not biscuit.
# 1. Only conclusion III follows
+ 2. Both conclusions II and III follows

& 3. Both conclusions I and III follows
X 4. All conclusion follows

Q.13

Ans

In a certain code language, ‘BEHALF’ is coded as ‘DCTYND’. What is the code for *CLINIC” in that code language?
« 1. EJKILKA

X2 EILLLA

X 3. EJKLKB

X 4 EJKLLB

Q.14

Ans

In the following question, select the missing number from the given series.

86, 107, 82, 111, 78, 115,72
X1 78
X2 72
X3 76
4 T4

Q.15

Ans

Which two numbers should be interchanged to make the given equation correct?
5-3x0+1=2

A1 5and3

X2 Sand?2

A3 1and3

4 2and 0




Q16 'Qx R' means 'Q is the wife of R’

'Q + R'means 'Q is the husband of R’

'Q + R' means 'Q is the daughter of R'

'Q - R' means 'Q is the brother of R'

How is V related to T in the expression'S-T+U+V"?
Ans X 1. Sister

X 2. Daughter

< 3. Wife
« 4. MNother

Q17 1n the following question. select the missing number from the given series.

6075, 2025, 72,225, 75
Ans X 1690

< 2. 680

3. 675

X 4700

Q18 Which of the following letter cluster will replace the blank () in the given series?

PRQ.QSR, . SUT, TVU
Ans o1 QTS

X 2. RUS

¢ 3 RTS

X 4 RST




Q19 Which answer figure will complete the pattern in the question figure? (rotation is not allowed)

Ans

RS

Q.20 Eight athletes Sunil, Abhishek, Mohit, Cheenu, Rahul, Tanu, Koyal and Ankit are sitting around a circular table facing
opposite to the centre (not necessarily in the same order). Koyal is third to the left of Rahul. Tanu is third to the right of
Cheemu. Mohit is second to the right of Sunil. Abhishek is second to the left of Cheenu. Tanu is second to the left of
Sunil. Who is sitting second to the left of Koyal?

Ans 1. Mohit
X 2. Tanu
X 3. Rahul
# 4. Sunil

Section : Part-B-General Knowledge and General awareness

Q1 Which of the following Mauryan inscriptions is NOT located in present-day India?
Ans X 1. Kalsi

+ 2. Kandahar

< 3. Maski

X 4. Girnar




Q.2

Ans

Which of the following countries borders India to the north-west?
X 1. Bangladesh and Myanmar

« 2. Afghanistan and Pakistan

X 3. Myanmar and Nepal

X 4. China, Bhutan and Nepal

Q.3

Ans

The Ministry of Agriculture and Farmers Welfare has launched a PM-KISAN AI Chatbot in 2023, which will
provide the farmers with a one-stop solution for their grievances related to the PM-KISAN scheme.

X 1. Kisan e-Yojna
X 2. Kisan e-Sandesh

X 3. Kisan e-Samadhan
4. Kisan e-Mitra

Q.4

Ans

Banking regulation Act was passed in:

X 1. 1959
X 21999
« 3. 1949
X 4 1967

Q.5

Ans

In June 2023, who has been awarded the Spinoza Prize, which is also sometimes referred to as the ‘Dutch Nobel Prize’?
« 1. Joyeeta Gupta

X 2. Rekha Sharma
2 3. M. Gauravi Reddy

X 4. Madhabi Puri Buch

Q.6

Ans

Which of the parts of the Indian Constitution deals with the Directive Principles of State Policy?

X 1. PartII
« 2. Part IV
X 3 Partl

X 4. Part III

Q7

Ans

In any tennis game, if both players win three points each in a game (i.e. score is 40-40), then it's called a
X 1. equal
« 2. deuce

X< 3. back
< 4. rattle

Q.8

Ans

What is the time period of the Eleventh five-year plan in India?

« 1. 2007 - 2012
X 2. 2009 - 2014
X 3. 2008 - 2013
X 4.2010-2015




Q.9

Ans

Which musical instrument is played by Pt. Ravi Shankar?
X 1. Been

X 2. Sarod

X 3. Sarangi

« 4 Sitar

Q.10

Ans

Which religion has the majority population in India?
X 1. Islam

+ 2. Hinduism

X 3. Jainism

X 4. Christianity

Q.11

Ans

The "Hornbill Festival" features which indigenous tribes showcasing their culture and traditions?
X 1. Gond

X 2. Garo

« 3. Naga

X 4. Bhil

Q.12

Ans

In 1866, John Newlands, an English scientist, arranged the then known elements in the order of . It is known
as ‘Newlands® Law of Octaves’.

X 1. decreasing atomic masses
X 2. increasing atomic number
« 3. increasing atomic masses

X 4. decreasing atomic number

Q.13

Ans

‘Mundari’ dance is assoclated with which of the following state?
< 1. Kerala

« 2. Jharkhand

X 3. Uttar Pradesh

X 4. Tamil Nadu

Q.14

Ans

The Green Revolution started in the vear 1965 andthe five vear plan was between 1961-1966.
X 1. 5th
X 2. 2nd
23 lst
+ 4 3rd

Q.15

Ans

The Jallianwala Bagh massacre, took place in consequence to the protest against the
X 1. Regulating Act
+ 2. Rowlatt Act
A 3. Pitt's India Act
X 4. Government of India Act




Q16 Which country will host the 2026 Asian games?
Ans X 1. Thailand

« 2. Japan

A 3. China

X 4. Qatar

Q17 Which sport is the Agha Khan Cup associated with?
Ans X 1. Kabaddi

+ 2. Hockey

X 3. Cricket

X 4. Rugby

Q18 YWhich of the following is the least populous state of India as per 2011 census?

Ans X 1. Meghalaya
# 2. Assam

" 3. Sikkim
X 4. Goa

Q19 Which Indian dancer won the Sangeet Natak Akademi Award in 2018 for Chhau Dance?
Ans X 1. Akham Lakshmi Devi

« 2. Tapan Kumar Pattanayak

X 3. Dr. Aruna Mohanty

X 4. Gopika Varma

= = =

Q.20  When the office of Chairman of the Council of States is vacant, then his or her duties shall be performed by which of

the following?

Ans X 1. Speaker of the House of the People
X 2. President of India

X 3. Senior most member of the Council of States
« 4. Deputy Chairman of the Council of States

Section : Part-C-Elementary Mathematics

Q1 Sonu alone can make a table in 125 days while Monu alone can make it in 250 days. Monu started the work and worked

for 75 days. In how many days Sonu can finish the remaining work?

Ans X 1. 135 days
X 2. 120 days
X 3. 100 days
« 4. 87.5 days




Q.2

Ans

The present ages of three people in proportions is 3:5:7. Six years ago, the sum of their ages was 87. Find their present
ages (in years).

2 1. 24 years, 40 vears, 56 years
X 2. 18 years, 30 years, 42 years
« 3. 21 years, 35 vears, 49 years
X 4. 27 years, 45 vyears, 63 years

Q.3

Ans

The radius of a sphere is 3.5 cm. What is the total surface area of the sphere?

X1 176 cm?

X2 178 cm?
X3 196 cm?

v 4 154 ¢cm?

Q.4

Ans

What is the value of 443 — 226 + 2 = 57
X1 127
X2 119
X3 —121
4 —]122

Q.5

Ans

A bus left 60 minutes later than the scheduled time but in order to reach its destination 300 km away in time, it had to
increase its usual speed by 10 kmv/'hr. What is the usual speed of the bus?

« 1. 50 km/hr
< 2. 60 kmv/hr
< 3. 40 km/hr
A 4. 30 kmv/hr

Q.6

Ans

X1, X2 and X3 can do a work in 90. 45 and 67.5 days respectively. All three of them began the work
together but X2 left 13.5 days before the completion of the work. In how many days was the work

completed?

X 1. 25 days
X 2. 24 days
X 3. 18 days
« 4 27 days

Q.7

Ans

Marked price of an article is Rs. 11800 and its selling price is Rs. 7788. What is the discount percentage?
2 1. 30 percent
« 2. 34 percent
X 3. 32 percent
X 4. 35 percent




Q.8

Ans

If the price of a dress is reduced from Rs. 800 to Rs. 720, what is the percentage decrease?
X1 6%

X 2. 9%

X 3. 8%

4 10%

Q.9

Ans

The average marks of 13 students was 130. But later it was found that the score of one student was wrongly entered as

23 instead of 32. What is the correct average of their score?

X 1.132.28
X2 131.72
¥ 3 130.69
< 4. 130.88

Q.10

Ans

Ankit sells an article at a loss of 10 percent. If he buys it for 30 percent less price and sells it for Rs. 26 less price, then
his profit will be 10 percent. What is the cost price of the article?

A 1. Rs. 300
< 2. Rs, 250
< 3. Rs. 320
v 4 Rs. 200

Q.1

Ans

What is the remainder when 3527 is divided by 10?
VRS

X2 4
X3 6
x40

Q.12

Ans

Prithvi has pears and peaches in the ratio of 10:13. Celine has pears and peaches in the ratio of 7:9. Vikram has pears
and peaches in the ratio of 5:7. Who has a greater ratio of pears to peaches?

X 1. Vikram
X 2. Prithvi
X 3. All are equal

« 4. Celine

Q.13

Ans

The average weight of a class of 22 students is 42 kg. If 2 new students of weight 33 kg and 39 kg are added to the

class, then what will be the new average weight of 24 students?
1. 41.5kg

X2 395kg

X3 43kg

X4 42kg




Q.14

Ans

A man buys 35 mangoes for a rupee. How many mangoes had he sold for a rupee so that there is a loss of 30 percent?
<133
X 2. 45
X3 27
4 50

Q.15

Ans

Simple interest and compound interest on a principal at a certain rate of interest for 2 years is Rs. 12800 and Rs. 14400
respectively. What is the principal?

« 1. Rs. 25600
X 2. Rs. 27800
X 3. Rs. 24400
< 4. Rs. 29900

Q.16

Ans

What is the value of 2016 +4 + 32 * 6 — 26 * 37
X 1. 626
X 2 624
¥ 3 618
X 4. 628

Q17

Ans

The marked price of a chair is 20 percent more than its cost price. If the chair is sold for Rs. 220 after a discount of Rs.

20, then what will be the profit percentage?
X 1. 20 percent
X 2. 30 percent
« 3. 10 percent
X 4. 15 percent

Q.18

Ans

What is the value of (48 — (20— 8)) = (4 = 3)?
X1 4
&2 3
X3 2
x4 1

Q.19

Ans

A certain sum becomes 7 times of itself in 10 years at a rate of simple interest. In 20 years it will become how many

times of itself at the same rate of simple interest?
X1 14
X2 10
X3 12
4 13




Q.20 vikram scored 32 percent marks in an exam and failed by 15 marks. If he scores 57 percent marks, then

he gets 10 marks more than passing marks. What should be the passing marks for the exam?
Ans X1 57
X2 52
X3 49
s4 47

Section : Part-D-English

Q1 In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.

A stick in the mud

Ans X 1. A person with no character

X 2. A person without any fear
« 3. A person who resists change

X 4. A generous person

Q2 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.

The matter was discussed privately without any intruders.

Ans 1. Run out of steam

+ 2. Behind closed doors
# 3. On the fence
X 4. Through thick and thin

Q3 Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.

A large number of people have been get clean and pure water.

Ans X 1. No improvement

« 2. have been getting
X 3. has been got
X 4. been gets

Q4 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
Consumers sometimes has a good ability to identify counterfeit logos when the legitimate brand is well-recognized.
Ans X 1. legitimate brand is well-recognized.
X 2. No error
« 3. Consumers sometimes has a good ability to

X 4. identify counterfeit logos when the




Q.5

Ans

Fill in the blank with the most appropriate option.

The horn of the car ahead was by the resistance of the thick air.
A 1. dim

X 2. faint

X 3. mute

« 4 muffled

Q.6

Ans

Choose the most appropriate antonym of the underlined word.

The cow happily recovered, which the widow entirely attributed to the efficacy of her pastor's prayer.
« 1. Inadequacy
X 2. Potency

< 3. Virtue
X 4. Effect

Q7

Ans

Select the most appropriate option for the given blank.

Youmust  vyour defeat now, as you are left with no soldiers.
X 1. defer

+ 2. admit

X 3. buy

X 4. get

Q.8

Ans

Select the most appropriate word to fill in the blank.

They a mammoth task ahead of them.

+ 1. have
X 2. does
X 3. needs
X< 4. has

Q.9

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

I am not the most wisest person here to teach you this lesson.

+« 1. T am not the most wisest
X 2. teach you this lesson.
# 3. No error

X 4. person here to




Q.10

Ans

Replace the bracketed word with one of the given options, which suitably replaces the word without changing the
meaning of the sentence:

A successful outcome could ultimately lead to its use in (autonomous) planetary rovers and robot aircraft.
X 1. obstruct
« 2. independent

Z 3. unanimous
X 4. pcclude

Q.11

Ans

Choose the word that means the same as the given word.

Fantastically

X 1. Scantily

X 2. Scarcely
+ 3. Fabulously
X 4. Nominally

Q.12

Ans

Select the most appropriate option for the given blank.

There is no need to jump to a SO soon.

# 1. resistance
X 2. incision

+ 3. conclusion
~< 4. finale

Q.13

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
A thousand years ago. boys and girls did not learnt to read.

X 1. boys and girls did
X 2. No error
X 3. Athousand years ago

« 4 not learnt to read.

Q.14

Ans

The sentence has been divided into three parts, identify the segment which contains a spelling error in the sentence

given below. Choose no error if there is no error in the sentence.

The seizmic zoning displayved/ that the area had been prone/ to many earthquakes.

X 1. no error

X 2. that the area had been prone
« 3. The seizmic zoning displayed

X 4. to many earthquakes.




Q15 Select the sentence with no spelling errors.

Ans X 1. We were disillusioned when we saw how the movie star acted in reale life.
< 2. We were disillusioned when we saw how the mouvie star acted in real life.
« 3. We were disillusioned when we saw how the movie star acted in real life.
X 4. We were disilusioned when we saw how the movie star acted in real life.
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March 8 and 9 for Goa.
The warning stated, “With the strengthening of easterly winds, clear sky (2) and delay in setting time of sea
breeze, the maximum temperature over Goa is likely to remain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfi the criteria of a heat wave over Goa (4) Thursday”.Many schools in Goa are
conducting exams and have been (5) to advance the timing.
SubQuestion No : 16
Q16 Select the most appropriate option for blank (1)
Ans X 1. mitigated
X 2. produced
« 3. Issued
< 4. distributed
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
The India Meteorological department (IMD)had (1) a warning regarding a heatwawve for March 8 and 9 for Goa.
The warning stated, “With the strengthening of easterly winds. clear sky (2) and delay in setting time of sea
breeze, the maximum temperature over Goa is likely to remain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfy the criteria of a heat wave over Goa (4) Thursday”.Many schools in Goa are
conducting exams and have been (5) to advance the timing.
SubQuestion No : 17
Q.17

Select the most appropriate option for blank (2)
Ans 1. conditions

X 2. phases
/< 3. complications

X 4. adjustments




Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March 8 and 9 for Goa.

The warning stated, “With the strengthening of easterly winds, clear sky (2) and delay in setting time of sea

breeze, the maximum temperature over Goa is likely to remain 4-6°C (3) than its normal value. Persistence of

these conditions is likely to satisfy the criteria of a heat wave over Goa (4) Thursday”.Many schools in Goa are
conducting exams and have been (5) to advance the timing.

SubQuestion No : 18

Q18 Select the most appropriate option for blank (3)

Ans X 1. High
X 2. Highly
X 3. Highest
« 4. higher

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March 8 and 9 for Goa.
The warning stated. “With the strengthening of easterly winds, clear sky (2)  and delay in setting time of sea
breeze, the maximum temperature over Goa is likely to remain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfiy the criteria of a heat wave over Goa (4)  Thursday”.Many schools in Goa are
conducting exams and have been (5)  to advance the timing.

SubQuestion No : 19

Q19 Select the most appropriate option for blank (4)

Ans X' 1. at
X2 in
X 3. over
« 4. 0N

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

The India Meteorological department (IMD)had (1) a warning regarding a heatwave for March 8 and 9 for Goa.
The warning stated, “With the strengthening of easterly winds, clear sky (2) _ and delay in setting time of sea
breeze, the maximum temperature over Goa is likely to remain 4-6°C (3) than its normal value. Persistence of
these conditions is likely to satisfy the criteria of a heat wave over Goa (4) _ Thursday”.Many schools in Goa are
conducting exams and have been (5) _ to advance the timing.

SubQuestion No : 20

Q20 gelect the most appropriate option for blank (5)

Ans 51 asking
X 2. said
X3 tell
+ 4 told

Section : Part-D-Hindi




Q1

Ans

AT T &, 9% Reedt F ¥, 39 BeFew & 999 #T A & 75 ARFa F1 FqEr 37 arer
e ¢
HYAT FIAT IR 3T

X 1. FOEA =fegat # FH 0T Il EFiebcd AT ATAT STl 3

X2 mertea ' ufgd g B
v 5 AT F HIA FHAT & AR & B (Aol &

X4 ST W T F E@T F FTAR T&T

Q.2

Ans

3T 71U a1y © 9 T1dd 9ol 31d iforg|

Wi yrgal & o9 Tfg & e sog sl w8l
X1 gut

x 2. ‘J_|'|€Eh’

v o qwfd
X 4 DU

Q.3

Ans

ST 7T g1y o Xifard 2eg o1 faad Rheg 31d HIfog |
T SREH! Y a9 UL AT ¢ |

X1 gl
X2 HIR
X5 5

v ¢ TgHigel

Q.4

Ans

3T 77U qraaiel & fore wide Wee J1d S|
ol T3 & eFHd 8l

v 1 gauHe

X2 TR

X3 3y

o Tl

Q.5

Ans

Fefalad Uy &, IR fGeedl § 9, 39 a5 &1 9949 &2 ofl HIFS | 16U U et & d0H ¥4 &I Jg [dPhed ¢ |
AU S @ UM & U Hel T g

X103
X2 3
;<3.@,|;§;
o 4 3




Q.6

Ans

[&T TU ATy  Ywifd 2eal & 1T el Risal ard f[dded ol 99 &1 |
5T WG T & g e 2

X 1. U8 G T @1 g e

X 2. U8 G g¥ &I 7T e |

X 3. URadd 31 3Maegedl Tl g
v . g1 T &1 Y Y Heran g1

Q.7

Ans

feu e faeeul ¥ 4 F fddhey Ffegad 8, Tald Uh Hel o | 39 Yol [dded ol 94 $1|
v 1. B gAY faaR &I firgm)

X 2. T qHY (AR & &1 ot foredrm

X 5. T ey faar 7 ficdm

X 4. T qHY IGaR & o e

Q.8

Ans

T v I & 3T e e w1 TEs w1 e ' @ 9w

Hrar AT & JATH #r 2

X e

Q.9

Ans

f&T 10 areR Yt 2se o1 fqed Lse 1A HIfor|
UTEH HRA 21y Al ¥ HIgen gl

X1 A4

X 2. SfeH!

v 3 GRIfOIG

X4 a4




Q.10

Ans

fGU 70 a19g H ¥@ifdd Wse o [0 Hal gaAl J1d i |

1 &1 g &1 o el
X 1. Qﬂg
X2 13"
X 3 ﬁaﬁ
4 9y

Q.11

Ans

Tt wed &, 91 eur & ¥, 30 Tel [9&eT F7 I8 L FT I F o T U #71 &GaeT
g;mmmfrg&rr%’r

v 1. Faifeg

X 2. FAa=ATd

X 3. Farer

X 4. T

Q.12

Ans

=T e #, 91 Fear & @, 39 FFeq &7 999 F{ 3 Fvss & BT 910 9eg F 959 &F &1
T AT E |
frer &1 gram & oo (Tfege) gl =T, ERERE TihER g« Tl

K1-;E|'1?|$
X 2. gqyreg
S rcac
x4.q'ag

Q.13

Ans

frafofa e #, a7 Reedt # 7, 38 ReeT & 799 #¢ 3 {U 710 geray & w7 7 Jren e
gl

TolAT Y STetell

X 1. e grar
X 2. 4 @
X5 A F 3T Yy g
v 4 qftep-TaEaer T &

Q.14

Ans

U TTq a1 1 9 HIFT T Y, [ Pig 3fC 81 3l Pig 3fe &1 8, dl 'BIg Fic Tal &' I+
U8 B IR AHIGH BT ¢ 1 5 3(chel 7 B |

v GR H1eH P

X2 g1 39 bl Hd |

X3 BRI S

x4 g pH




O Prrafafla wea &, 97 fesdt # ¥, 50 Besy &7 937 1 3 Frves F Ry 71T g F wHgar
oTeg, F WY fareT B
TS F G A AW (F) ;A&

Ans X 1. ;\#
& 2. ﬂ'ﬁ
X 3. Geleh
x4 HHA

Comprehension:

- o T TR H % ek 315 6 T §, TS oiwia & U 9R [deed QU T § | 59 TER &I eFYdd
U¢ 2R IR fddhedl # U 9afaa IR arel [dheq |

A BT H IfE TOR & fodl ¥ S | BI3 "o ufed 81 @ 3Ud o1l fa gaR U I%as! Gar AT STl
g1 UU R QAR Ul G RUIE_ gidi gl Ao o G H [T G aR U b oilgd & B ol
HH] B39 g1 U8 al Ugdll 3R a0 9 g, o Wl g Yag Iy Usd oW ¢ | 98 oH WX fay H g <&l

_ S ERHUFSRI GHR a0 S H 98 W H gHRI UGS Bdl ¢ | AR U Al eias,
YIS Hel, SUSHIRT, T, 2H-RRIPTE GHER, 931, e, gargd], sftmdis, 4, @ier], de-iel g &1
SR g <dl &1 98 8HR 9 SINd R de-idl Sl deH # i gAR! gl axal ¢l Ugd & 9Hg #,
YHR UAT H dae] @aRl b1 30 YebIiRid gidl uTl gleiifs, 3 g9+ dgd d fawal & aR # @i 3R faivgl &
foram gt o fob, T T fowal 1 wis R Hi [Fied gl 81 950 I GAMER UAl &1 SIAd §oiR § 39!
RIS 3R 3G & H UG & HRUT S{EHI-2AH Bl ¢ | GHER UF I1 28R H & siigd o1 9+t
dAHM YeAe Faiid 39 9 Bl ¢l

SubQuestion No : 16

Y b gRRE S ERUE gl
s L g

X2 &gl

X< 3. ﬁq,—ﬂ

X 4 Afnd




Q.17

Ans

Comprehension:

- U T TR H 359 Wes 315 6 T €, TS Siwie & UeH 9R [aded [GU U § | 539 TR &I AHYdd
U¢ SR IR [ddhedl ¥ § Jaiqd 3w ardl [dded g1

TqqH B | gfc TUR & fedl ¥t &F F &5 ot ged gfed 81 a1 3 3T a7 gHR Ty IS e 31 S
IR TARR UA G SRS EBdicl AN s G H ST TR A s oilad & Hen
S| B3 81 U8 gl Ugdll 3R A1 a&d 8, f5 9l 8% Yag 9ol Ugd ¢&d ¢ | 98 g R Ay H gl @l

_ FERH TEPRI 4@ aaH 90T U T 1@ # SARI HeE Sl ¢ | TAER UF AIRE], A,
YIS Hel, USRI, G, AP FHER, faq, e, gargd, sf¥dref, A, digRi, deb-id fe Bt
TFHR g1 31 21 98 gUR I SN iR ahdT dr e B off R el SedT 21 Ued & 9
THER YAt H o Geri 37 faav01 UebIId SidT 471 gefifdy, 31a S9H g U favai & aR # we 3R fagvsi &
foaR gel d fds, @mrT aut [qwal &1 sHeR! 1t [Figd 8l 81 950 4 YHER Wl &1 $11d SR § 376!
GRIE R 3Y &7 1 ufifE & SR -1 gidl & | YHHR A 17 3REeR H ofFd oiiad &I 92t
g HeATe Faffd 30 ¥ 0

SubQuestion No : 17

TS & THY H {1 THER UA & oilgd &l S Wt P! B g
X1 ISl

X 2 T

X3 TR

v 4 B

Q.18

Ans

Comprehension:

- BT T TR H 3% Wee B1S 163 U 8, Udd 2wia & UHH IR [Aded [GU U § | 59 TRl & AFYdd
U¢ 3R IR [ddedl H U Jaiad 3R aral [dded 9|

gAaH B H afe TOR & fedl Wi o J s+ ger ufed gl al 39 3Tl {3 gAR Uy 39! e 31 9rd!
eI R AR A $ HRUIE | Bidigl W SR A G GHRR A b algd & AT
aﬂuﬁav‘i%?l%mgaﬁaﬁﬂ@mﬂqwm % &, o il 8% Yag 9o Usd 4% o | 4 g+ Uy 1oy 8l <6l

& TR H Wb RI ShY adH AT ¥ 9S 10+ H gART HEG dl o | FHAMER U3 AR, I,
IO T, ARSI, W, RIS SHIER, fam, e, Garsa, iRl 7, @er), aais! of 3t
THHRT g8 a7 21 08 TR IF SIN@ SR abial | PragH & o TR Tead a1 31 Ued & Gug
THER YAt H o Geri o7 f9av01 YebI1Id gidl 41| gefiidy, 376 SUH dgd | faval & R # wey 3R fagvsi &
foram aet ae fobs, T Tl fawal &1 SaRT Hi (Hfed Bl 81 950 T FAMER U= &1 SiAd SoiR § 3!
WRI® 3R 3T &7 H ulifG & SR /@T-31e gidl 8| THER U3 97 3RITR & ¢ oilaq & gt
gaq geqns Hafid ¥U ¥ sudt 2

SubQuestion No : 18

WA RAYAB W FINT THSR o T0qH 999 ¥ IS 1@ H gARI Aeg ol ¢
v - Heat

X 2. Hherad

X 3 @f,ﬁ

X 4 TERI




Q.19

Ans

Comprehension:

- U T TR H 359 Wes 315 6 T €, TS Siwia & UeH OR [Aded AU U § | 539 T &I AHudd
U¢ SR IR el o § Jaiqd 3 ardl [dded g1

TqqH B | gfc TUR & fedl ¥t &F F &5 ot ged gfed 81 a1 3 3T a7 gHR Ty IS e 31 S
eI RS TARR U G SRS Ediel NS T H SRR A s oilad & Her
HIP] B3 ¢ U a ggdl 3R I avg ¢, forg Wil g Yae 99 Ugd ¢ud ¢ dg el R fay A g1 el

_ FERH TEPRI 4@ aaH 90T U T 1@ # SARI HeE Sl ¢ | TAER UF AIRE], A,
YIS Hel, USRI, G, AP FHER, fag, e, gargd, si¥dred, #el, digRi, db-i! 3fe Bt
TSR g8 31 21 98 R I SN SR abaT S aer o off R el SRdT 21 Ued & 9
TR T & Haa G131 R TR g 4| graifs, o 39 9gd @ vl & AR 7 gt AR el
foaR Tgl d fdb, AT O [qwal &1 SHeRT 4t Figd 8l 81 95a 4 YHER Wil &1 $1Hd SR H 36!
GRI P R 3IY &7 1 ufllg & HRUT HE-HT eidl ¢ | THER U I1 3RIIR H & oila ol g3t
g HeATe Faffd 30 ¥ 0

SubQuestion No : 19

gg gHN I, HIRE AR dH-ieb! & g H o gHAR! Tg™d Idl g
X1 g

X 2 &

X 3. IEr

v 4 SRl

Q.20

Ans

Comprehension:

il U TR TR H 36 W B1s G Y 8, Ueid 3wda & A R [adbed [GU U € | 3 Teil &l e-ydd
U¢ 3R IR [ddedl H U Jaiqd 3 ardl [dded 9|

IAHH PHId | gfe GUR & bt vt F & @15 o ger ufed 8 dl 3% 3T {39 AR U1 S9! Wal 31 7l
¢ Uy G GUER Gl & HRUIEI Bl gl Aol G U S quER G H olgd &l He o
HIP] B3 ¢ U a ggd R Haxad avg ¢, forg Wil g2 Yoie G4 Ugd owd ¢ U8 ed [ Ay A g1 el

B ERHE TSR] G@R aaHM 9HY U 99 3@ H GARI HaG $dl ¢ | SHER U ATRE], i,
IS W, SRISTRI, W, SRS THENR, 571, 16, earsal, AfH-dref, 7o, @RI, Tl offe H
THGRT g8 SaT 21 U8 IR IF SIE AR ahial | PragH ¥ off g Terd a1 31 Ued & Gug
THER YAt H o Geri 37 fGavu1 UebI1Id Sidl 471 gefifcy, 31a SUH g | [avai & gR H @a 3R fagvsi &
foaR Tel d fds, AT Ot [qwal &1 SHeRT 4t Figd 8l 81 95a 4 YHER Wl &1 $1Hd SoiR H 36!
WRIP 3R 3T &7 H Uil & HRUT 3TH1-3H gidl ¢ THER U= 9T 3RGaR H &4 oiia ol g+l
gaq geqe fHafid 3U ¥ sudi 8

SubQuestion No : 20

I50 U WHER YAl Bl DT SOR H 3T @RI b 2R 39 &F H Willg & BRI S{A-TH 8ldl 6
X1 geTg

X2 BUG

X T

« 4 Tqaau






